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(a)  The graph of v =[3x +g| passes through the point (~2. 5). find the possible
values of g. [21

®) (@)  Solve the inequality [3x—5> 4. 2]

(@)  Sketch the graph of y =[3x—3—4 for 0<x<2. 2]
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x>3
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10 The diagram shows part'of the graph of y = Px+ 451,
»

y=[2x+4)+1

(i) Find the coordinates of £ and of 0. 3]

A line of gradient m passes through the point (0,3).

(if) In the case where m = —1, find the x-coordinates of the points of intersection
between the line and the graph of y=[2x+4|+1 3

(i) Detennine the set'of values of m for which the line intersects the graph of
y=[2x+4]+1 at two points. 21
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2=(05)
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x=~hH
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The diagram shows part of the graph of y =[2x—10|-1 .

@

®)

y=[2x—10] -1

*x

Find the coordinates of P. Q and R.

In the case when mx +c =[2x—10|—1. find

(i) the range of values of cwhen 7 = —2 where there is only 1 solution.

(i) the range of values of mwhen ¢ =1 where there are 2 solutions.
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[2]
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P=la—0f orRifs—0]
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c>9
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O<m<2
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@) Onthe same diagram, sketch the graphs of y =|2x-1| andy =—2-4x[+2. [4]

(i)  Find the values of x which satisfy both equations
y=-|2-4x|+2 and y=|2x-1|. 41

(iii) Hence, state the range of values of x for—| 2—4x [+2 > | 2x-1|. 1
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(0] Sketch the graph of y =4 -|x|.

A line of gradient m passes through the point (0, 1).
@ii)  Inthe case where m =2, find the coordinates of any point of intersection
of the line and the graph of y=4-|4.

(@ii)  Determine the set of values of m for which the line intersects the graph of
»=4-|x at one point.

2]

B)

21
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A curve has the equation ¥ = 4—(3x—1)°.

®
)
(i)
@

1
Explain why the highest point on the curve has coordinates [3. 4] . [
Find the coordinates of the points at which the curve intersects the x-axis. [2]
Sketch the graph of y =[4—(3x—17’|. 21

The equation [4—(3x—1)°| = mx+4 has 4 distinet solutions. Using your graph.
determine the range of values of 1. 121
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Thus the maximum value of y is 4. and it occurs when g
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—4<m<0
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The diagram shows the graph of y=| p —2x|+¢. where p and g are integers. 4 is the

point where the graph intersects the y-axis. and B and C are the points where it intersects
the x-axis. Point D (2, —1) s the vertex of the graph.

@  Find the value of p and of g. 2]
(i)  Hence find the coordinates of 4. B and C. [4]
v
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